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A- Vocabulary and Structure

1- Choose the correct answer from a, b, c or d: (12 Marks)
1- Shehab has lived in London ............ his childhood.
a- since b- ago
c- for d- when
2. My brother ............ short stories for three years before he published them.
a. will write b. had written
c. had been writing d. has written
3- | hope the exam ............ difficult.
a. isn't being b. isn't going to be
c. won't have been d. won't be
4. | regret arriving late; | ............ on time.
a. must have come b. needn't have come
c. should have come d. had to come
5. Don’t give ............ your dreams. One day you will achieve them.
a. over b. up
c. at d. of
6. | had my car repaired, but | ................. my room painted.
a. didn't make b. had
C. got d. didn't get
7. While ............ for the school bus, | met one of my old friends.
a. being waited b.am waiting
C. was waiting d. waiting
8-ltwas ............ when she had finished sweeping the floor that she dropped
the glass.
a- until b- after

c- only d- hardly
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9. The new underground railway line ............ by 2025.

a. will build b. will be built

c. will have built d. will have been built

10. The manager ............ the meeting because he was seriously ill.

a. had to postpone b. shouldn’t have postponed

C. must postpone d. needn't have postponed

11. My mother asked me to stop ............ bread because we needed it for lunch.
a. buy b. to buying

c. buying d. to buy

12- Ramy won't go home until Ali ...................

a- has arrived b- arrived

c- will arrive d- had arrived

Choose the correct word from a, b, c or d: (12 Marks)
1AL newspaper has small pages and large photos.

a. broadcast b. poster

c. tabloid d. blog

2. Yosra is over the moon; she has won a/an ............... for her collection of short
stories for children.

a. fine b. penalty

C. punishment d. award

3. She usually works hard; she ............... herself in her work.

a. avoids b. immerses

c. imagines d. frees

4. Don't............... the new nurse for breaking the machine. It was an accident.
a. renew b. reward

c. scold d. forgive

9- Why don't you come ............... to my house after work?

a. out b. for

C. over d. about
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6.ltookaten- ............... break to refresh my energy.

a. minutes b. minutes’

C. minute’s d. minute

7. What bad news! The book had been ............... before it was published.
a. leaked b. locked

c. disappeared d. written

8. My cousin ............... a STEM school in Al-Obour City.

a. goes b. attends

c. studies d. learns

9.Some people tend to ............... when it comes to paying their bills.

a. duplicate b. procrastinate

c. hibernate d. recuperate

10-Time ............... is highly recommended when running your own business.
a. management b. retirement

C. punishment d. reassignment

11. She is very rich; she has............... a fortune from her late grandfather.
a. robbed b. inherited

c. left d. done

12- You aren’t working hard; you need to be more ............... :
a. talkative b. productive
C. negative d. successive
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B) Reading Comprehension

3- Read the following passage, then answer the questions: (10 Marks)

Have you ever noticed how busy the roads in Cairo are, especially in the rush
hours? Every year more and more cars are using them. These cars do a lot of
harm. Not only do they disrupt the traffic, but they also cause pollution.

Almost every family has a car. Some families have more than one. No wonder
you see many traffic jams all over the city. Perhaps the worst jams are at the city
centre. These long lines of cars crawling into Cairo waste time and money. Every
day, precious time is wasted while you are waiting impatiently at the traffic lights.

At last when you reach your destination, you have every right to feel kind of relief,
but soon you face new troubles. There is no place to park your car. In Cairo it is
very hard to find parking spaces. It is a problem that causes us trouble by day and
anxiety by night. To solve this problem more carparks should be built just outside
the city centre. Then the drivers can leave their cars and catch a bus to their offices.
Another solution is to build multiple story garages.

Wide, smooth, straight roads must be built now in place of the old, narrow roads.
These roads must not pass through the city centre, by-pass it, they must not be
crossed by other roads. This can be achieved by fly-over bridges. It is heart-
warming to see such roads being built now. Carts, tuk-tuks and cycles should not be
allowed on such roads. Let us hope that in the near future when people rush to work
and then back home the roads will be as orderly as ever and traffic will flow without
hindrance.

A. Answer the following questions:
1- What must be built now?

5- Find words in the passage which mean:
a- downtown
b- worry
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B. Choose the right answers:

6- What does the underlined pronoun “them” refer to?
a- rush hours b- cars

Cc- roads d- years

7- Car-parks should be built ............ :
a- inside the city centre b- outside the city centre
c- in the country d- abroad

8- It's not surprising that there are traffic jams because ............
a- the traffic policemen are careless.  b- most families own cars.
c- most people love crowdedness. d- the government allows this.

9- Which of the following does the passage suggest for new roads?
a- Producing more tuk-tuks. b- Producing more carts.
c- Building parks in city centres. d- Building fly-over bridges.

10- What problem do drivers face after reaching a destination inside Cairo?
a- Finding markets to buy things. b- Walking because of crowdedness.
c- Finding a place to park their cars. d- Shopping because of congestion.
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C- Islamic Selections
4- A. Answer the following questions: (5 Marks)

1- What was Islam fundamentally based on?

3- How was Omar when he knew that his sister and her husband had adopted

Islam?

B. Choose the right answers: (5 Marks)

6- Prophet Muhammad (PBUH) prayed to Allah to ............ :

a) guide some people to Islam b) take revenge on the people of mecca
c) to help him conquer Mecca d) to bless the people of mecca

7- Fatima Bentul-Khattab was the wife of ............

a) Omar Ibnul-Khattab b) Abu Bakr Al Sedeeq

c¢) Said lbn-Zayd d) Khalid Ibn- Elwaleed
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8- Lady Khadeeja rightly gained the honour of being Mother of the Believers

because she was............ :
a) the wife of the Prophet b) she was a rich woman
c) she was from Mecca d) she had a large trade with Syria
9- The prophet .............. deeply for Lady Khadeeja's death.
a) approved b) delighted
Cc) assisted d) grieved
10- Before the advent of Islam, .................... was everywhere in Arabia.
a. eternity b. solitary
C. infinity d. idolatry
D-_Writing
5- Supply the missing parts in the following dialogue: (4 Marks)

Zeyad wants to borrow a book about (the prophet’s companions)

Librarian : How can | help you?

Zeyad PP (1),
Librarian : Well, there are different books about the prophet’s companions.
Zeyad e (2) e ?
Librarian : On that shelf over there.

Zeyad e (B) e, ?

Librarian : You can borrow it for only a week.
Zeyad - All right. Thank you very much.
Librarian @ ..covvviiiiieereeceeee (A) e,
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Paragraph (6 Marks)
6- Write a paragraph of about (120) words:

“The importance of charity work”
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Translation (6 Marks)

7- (A) Translate into Arabic:

1- Egypt’s distinguished location and great monuments make it a wonderful
tourist destination.

2- The main objective of technology is to make tasks easier and solve the
problems of mankind besides improving work and make the world better.

(B) Translate into English:
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